NCERT Solutions for Class 11 Humanities Hindi
Chapter 2 - TN & 57 da

Question 1:

ST § PHF B P 8? THD! TENTS IR ATH AT A FH3ll dt TENTS IR 2 H 7 SR Bl
2?

Answer:

BICT P11 Gs HEATT & | I 87 U BT T To17 g bl & | D! TETS 7R T H 3R Bl & | U
131 I 8121 Ieb T ST 8 STafeh B3 DBl 60-65 B A<l Teb TN STl & | P bl AT qg< 31ferh
21T 8 | S Aot G2l 1 AT 95 &1 HH I 8 | $9Ih B TN b BRI AT i aTfad &1
RNepT ST & |

Question 2:

femfe st =it &t Fa A ey # I8 UTe JUeh! Y Aeg R Fobdl & d1 231 & 3= Iod| 8§ 39
foTq /T 3T &1 X2 22 S 31K fore?

Answer:

fefe wreelt urft et v | e 4§ I8 TS gA 9gd WRePR & ST bR qehell & | 34 84 el
<t @ fob URepTel = UT=it et <&fl b foTq a5l 3 JUT fhu U E | B SMearegenddl I8 S+ 3R A 1 ¢ |
3FT: BH IR P NTTEFT BT e STETI Pl I ML & | b forg AR M # faveR Aerarot Sy
fordw=it @t AT o9 ot SIS 2 | I 91 o e & 6 3 A} WAy § g o g Aecayet
STRTRAT 3R fareist el Fepet & | 37 a9 SN UhalR bR 89 319+ 291 & 31 1o 8§ gTit ot
T 3 foTg 3191 Ut fHepTel el £ |

() AT & TeT BT He THST T & AR I ATH-ThTs IR &7 ST ST & | &R I 39 Wk )
B HR H o7 G 8 | AU i BRER A T bt Fobrs A o211 fm o Xe1 2 |

() RTpf AP el TR ! TaTIT ST & & AT §9hT SvIgR fopar ST ET 8 |

(1) STet HR&T0T OR 37 Y: fr=mR 81 %81 8 | IR aRiehi bt 3R qRUD 1Y b1 HRBIR Pl 41 11 Gl
2|

Question 3:

TSIRI & |1 T-FATS & FIER H Tget & Jer=l H SISl T Bdh 7T 22 YIS b MR IR TS |

Answer:
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S AT s Thed &, I8 TSR Bel ST & | IOl & Tiat § AT b ki T iR o | &S e
& T I8 TG ATl GRT gl -1 fT STl o7 | s Wi & gz R §aRIE fpa san
AT | ASIR] ! g A f21 ST o | aR e I8 RSP NER H $B--$6 A & ofreht off | &
TP Bt BTel H IAHT U WFT 1 FIehTeTehs T SITem o | o7 I8 9 21 8 | 319 TSR bl Ayt 3 bl
T 3TRY 81 TRIT & | AR AeIGy! Sehx 3191 ShTH =T fordT el & |

Question 4:

foroft g1 g +t wrdorfar SR $Fal G% WY FAIST BT Sige I Vg 81 < = U= i el 22

Answer:

gl # Uit @t ATRT HH BXeRt & | I8 9T BT g1 g T & Y H eReh H IR e 8 | 3 RA®
R 37Tt Gl DI 0T HRAT 8, 1 ST 1 BN Sl W1 &, ST SedRT | AfS GRS Al &l 3
Gl gaT™ o1, T T8 TS THRAT UST = Ahell & | S 9 & [E¥AQR 9§ ST | 918 H ST 8l oiiT
Titq o forg 7rg Reerfey e =T 8 | o1t TR THIST il AIvTTehR 391 Re2afy Y b Tyl & | R eAferdt
DI Qh T & Gl g1 1 MUBHR BNl 8 | IS I8 AR A1 21 &, <A S IR AT Dot T epicd

A Tt B | o St Sliepfy o gt ot o e et @ |

Question 5:

Pz om0 & et 7 wIesl o IR # STHBHRT GRS PR - GTARTHT, UTTeAaT=T, XSoigr |

Answer:

T § U7+t & T WY A ST € | UTelRUT, UTTerdr=t 9eim Sofar=i | $9eb fAug & =t 39
UTERYTI- Ig U7+ SRATC GRT IR 81l 8 | 39 7, ATTd AT eRelt IR I ST Hehpell § |
UTETeaT=1- 78 U1t 4oTel ¥ fiefell 8 | $¥p TR U e € | T8 T A @RI S € |

JoTofart- I U Or=it 21l 2, S ST b A1y 9§ eRd! | ) It Sl 2 A fohgl ot J eier §
et =7 are 2 | S=ft Y ST Ed € | I8 1 S aut A1gH ot Afr A e 8 | 591 fafSr o X @
STl & | 39 e H GHT grt @Y AT S & |

/
httos:/fwww.evidyarthi.in/





